SN S SME
Ha: sl 2 23

=
Colr DEN ASHSOIHMA (69l &2

SNBSS - MEAY - BES 0] &F o 01 o BlnE2
s2J|=sdH 4,594,209 3,886,951 707,258
= 160,750 160,750 0
s 48,000 48,000 0
= 300,037 118,404 181,633
S 175,853 152,133 23,720
= 3,909,569 3,407,664 501,905
s 2 B3 1,679,636 1,508,896 170,740
= 84,000 84,000 0
= 215,247 33,614 181,633
& 132,068 108,348 23,720
i 1,248,321 1,282,934 234,613
DEE ASHS M 1,679,636 1,508,896 170,740
= 84,000 84,000 0
= 215,247 33,614 181,633
= 132,068 108,348 23,720
= 1,248,321 1,282,934 234,613
AEHRFMIsES 359,000 295,000 64,000
= 127,500 103,500 24,000
= 231,500 191,500 40,000
402 2I2H X =01 279,000 215,000 64,000
S 103,500 79,500 24,000
i 175,500 135,500 40,000
01 BIZPGEEX 279,000 215,000 64,000
OWFSZAHZS 2st=Mel ZSISALEAE
20,000,000 * 80/100 16,000 0 16,000
= 6,000 0 6,000
= 10,000 0 10,000
Olld=E 228 MBEE & Al
60,000,000 * 80/100 48,000 0 48,000
S 18,000 0 18,000
= 30,000 0 30,000
tEa A3 371,000 371,000 0
= 215,247 33,614 181,633
i 185,753 337,386 A 181,633
402 SI2H X201 371,000 371,000 0
= 215,247 33,614 181,633
i 185,753 337,386 A 181,633
01 It EEX 371,000 371,000 0
OXSZASMMACTIAIYE  ZFE 350,000,000 350,000 350,000 0
= 215,247 33,614 181,633
= 134,753 316,386 A 181,633
== D|l=E3 173,800 66,500 107,300
402 SI2t X201 173,800 66,500 107,300
01 S X2EX 173,800 66,500 107,300
OFTALIE Z2HE A=HEAS
23 87,150,000 87,150 59,500 27,650
OF=<IH 2001 ZHA 79,650,000 79,650 0 79,650
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B =PIEY =
B se)leiY 2 B3

Gol: DEE ASHS0EMN (B9 &2
SN EB -GS - MBAY - BES 0 & 24 p/E-T" {imE=Eh
B 233 HAUX 9,136 9,696 560
= 4,568 4,848 A280
2 4,568 4,848 A280
402 Q12X 01 F 9,136 9,696 A560
= 4,568 4,848 A280
2 4,568 4,848 A280
01 UIATEEE 9,136 9,696 560
Ol 23SHAX 37 9,136,000 9,136 9,696 A560
= 4,568 4,848 A280
2 4,568 4,848 A280
sof Hojol Su 677,821 704,321 26,500
2 59,900 59,900 0
= 44,940 44,940 0
= 39,885 39,885 0
2 533,096 559,596 26,500
H2s20 S4 353,501 353,301 200
=2 44,940 44,940 0
= 44,940 44,940 0
= 14,385 14,385 0
2 249,236 249,036 200
AL T 145,991 147,991 A2,000
201 Yereg| 16,680 18,280 A1,600
01 AtRZelt| 2,000 13,600 A1,600
ogxz 12,000 13,600 A1,600
—=QHHEY HEDS AR
23 3,600,000 3,600 4,000 A400
—E0ITNRY #AADT YR
23 1,200,000 1,200 1,600 A400
—FIIE Y HREEXNCKHE HSAR
33 2,000,000 2,000 2,400 A400
—MEINHS DI
33 1,200,000 1,200 1,600 A400
203 Y=Y 7,600 8,000 A400
03 AIMZZ RS 7,600 8,000 400
O=£X5 2% 2 4,750,000 4,750 5,000 A250
O=HHSA 25 2,850,000 2,850 3,000 A150
4-H 24 X (XHH) 69,680 67,480 2,200
201 Ygreg| 20,680 18,480 2,200
01 AtRZ2lt] 19,600 17,400 2,200
o2g4+y 8,000 15,000 3,000
—SAHDRDS ALY
27 18,000,000 18,000 15,000 3,000
oguxtz 1,600 2,400 A800
—4-HDSHA AR 23 1,600,000 1,600 2,400 A800
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L SIS MIE
D=9 oY |4
=0l RIS

oy U

SNBSS - MEAY - BES 01 o bz 2
=80 MEBI=N= 169,320 194,020 A24,700
= 1,560 1,560 0
= 10,500 10,500 0
= 157,260 181,960 A24,700
Mol =s&H L= 37,900 66,600 A28,700
201 LetEI| 30,300 59,000 A28,700
01 AFR22lH] 30,300 59,000 A28,700
Ogt=ZH| 2,700 23,000 A 20,300
—W=EWM 230 0 20,000 220,000
—2uKOM(2IZFA MBS S)
Z2& 2,700,000 2,700 3,000 A 300
ozd=¢ 24,800 33,200 28,400
—MolEs&EAHNE 2AME 230 0 4,000 24,000
—S2EHEI=us LA
Z2& 1,800,000 1,800 2,000 A 200
—SACHNNZI I zNE A=Y
Z2 & 3,000,000 3,000 3,600 A 600
—MENHEZUNE TAE
2 & 5,000,000 5,000 6,000 A 1,000
— A =sHCEONM B HE 2A==E
23 6,500,000 6,500 7,500 21,000
—sgolHuEs EA&LL(D2)
Z2& 1,000,000 1,000 2,100 A 1,100
—HSUEEINE ML
Z2 & 5,500,000 5,500 6,000 A 500
d2=gel ¢4 63,000 64,000 21,000
201 LetEIH| 18,200 19,200 A 1,000
01 AbR22lH] 18,200 19,200 A 1,000
Oogdxt= 3,800 4,800 21,000
—Sg=sd ¥EE d2)|s EXYEus o
Xt Z2 & 3,000,000 3,000 4,000 A 1,000
Sel=sg HeE2g 30,300 25,300 5,000
201 LetEHH| 23,350 18,350 5,000
01 AFR22lH| 23,350 18,350 5,000
ozd=¢ 0 10,000 A 10,000
—SesHUE LAt 280 0 10,000 210,000
Oodxt= 11,600 1,600 10,000
—Scl=sdsr X ot 23 11,600,000 11,600 1,600 10,000
o1ul=| 5,000 0 5,000
—Sdsgis 1=+ 5,000,000 5,000 0 5,000
=32 & S20HHE 105,000 107,000 A2,000
= 13,400 13,400 0
i 91,600 93,600 A2,000
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A Jl=HdH

I '5%* goilels 54
ool 83228 & S20E (&9 H =
SA-ZH - S2A(3AH) - MEAME - HES Off & 2K JE A Blus
SEME & 82 12,000 13,000 1,000
201 €er=gl 6,000 7,000 21,000
01 AtR2teldl 6,000 7,000 A 1,000
Oget==tl 5,200 6,200 A1,000
—dEAS SZgALE N2 A
&3 1,400,000 1,400 1,700 A300
—SAMEAIS AFM A &3 800,000 800 1,000 A200
—ANGSARIELE AUHSHA
& & 3,000,000 3,000 3,500 A500
SesYy 1592 22 73,400 74,400 21,000
201 €er=gl 5,400 6,400 21,000
01 AtR2teldl 5,400 6,400 21,000
Oget==Hl 5,400 6,400 A 1,000
—JE3esg & sSi=E SENEMH
& & 4,000,000 4,000 5,000 A 1,000
eS8 sY It 25t 2,067,374 1,600,474 466,900
= 16,850 16,850 0
= 48,000 48,000 0
= 39,850 39,850 0
= 3,900 3,900 0
o 1,958,774 1,491,874 466,900
sEXNZIIE &5 459,889 419,989 39,900
= 16,850 16,850 0
= 48,000 48,000 0
2 39,850 39,850 0
s 3,900 3,900 0
[ 351,289 311,389 39,900
SIOH &8 AS 73,115 32,415 40,700
201 ezl 12,450 15,000 A2,550
01 AtR2teldl 8,250 10,500 N2,250
Oget=2H| 5,750 7,500 A1,750
—SIOASEAE & HsIIH+HEE WS
&3 2,000,000 2,000 3,000 21,000
—HSIH & HEEBS+H =2
33 3,750,000 3,750 4,500 AT50
Ogitz 2,500 3,000 A500
—HsIIA+=AE ARSI
23 2,500,000 2,500 3,000 A500
02 523t 4,200 4,500 A300
OAlIE ZHIR XY 4,200 4,500 A300
—sIALNSEH SN2+ FF 4,200,000 4,200 4,500 A300
401 Al&ZHI XL 2| 22,000 0 22,000
01 Al&HI 22,000 0 22,000
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A Jl=HdH

PSR D}*éi‘:%‘so* JietX 23t
& sEXNTIE &= (&9 HM
A -3 -H2A(SH) - HEAMY - BES Of] AF R J|E Hos
OsJIHHYH B 22,000 0 22,000
—SIJHHEH MIIEES 15,000,000 15,000 0 15,000
—HsE2Al4d AX 7,000,000 7,000 0 7,000
405 Kot S| 21,250 0 21,250
01 RAHEZFH=H 21,250 0 21,250
OgUE =&x 2224 &X
21,250,000 = 1CH 21,250 0 21,250
SEXNEI8HXI& 230,774 231,574 A 800
201 LEt23| 230,774 231,574 A 800
01 AtE22/Hl 14,200 15,000 A 800
Oget==Y| 6,600 7,400 2800
—EAMNSYIFL Z2& 1,600,000 1,600 2,400 A 800
ASEHF HEAHAR 1,607,485 1,180,485 427,000
ASANEEZE 29 430,882 110,882 320,000
401 AIEHIZ 2 325,000 5,000 320,000
01 Al&t| 305,000 5,000 300,000
Osadotm=za &4 300,000,000 300,000 0 300,000
02 Zeldl 10,000 0 10,000
SHHOtHE =4 10,000,000 10,000 0 10,000
03 Al&Z20Hbl 10,000 0 10,000
Osadotm=za &4 10,000,000 10,000 0 10,000
SE0ME HILHEH 29 287,627 180,627 107,000
201 LBt 27,000 20,000 7,000
01 AR 22| 7,000 0 7,000
ORS0IMSHH ZEEAY
3,500,000 * 2JH A 7,000 0 7,000
206 M=l 233,240 133,240 100,000
01 M=Hl 233,240 133,240 100,000
ORESIMSHHLHZ 230,000 130,000 100,000
— Ol 281X Z2 & 190,000,000 190,000 100,000 90,000
—HigElE & =XF 4 & 40,000,000 40,000 30,000 10,000
HE2AHH (sII=HEH) 69,378 73,260 A3,882
olA2AEH (=l I=dH) 8,190 8,400 A210
ol 2| 8,190 8,400 A210
203 HRF&H| 8,190 8,400 A210
04 EARIHRFEHI 3,990 4,200 A210
ORN2IYRFE(=YI&£4H)
a8 3,990,000 3,990 4,200 A210
Jl2dtl(sglIs4dH) 61,188 64,860 AN3,672
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SA Ee)ISME

Hn: #ESHAY| (S| SHE)

Chel: Dl =Yl (S| = HE) R
SA - BE - BA(EA) - NRAY - BES 0] & 08 01 o HRE2
Jle=3| 61,188 64,860 A3,672

202 O4Hl 33,048 36,720 AN3,672

01 =LA bl 33,048 36,720 23,672
OJI28S =80l 2 & 33,048,000 33,048 36,720 A3,672

HRES 100,000 0 100,000
UWEAHHXE(sLII=HH) 100,000 0 100,000
HEHHRIE 100,000 0 100,000
02 JI3dES 100,000 0 100,000

01 JI38EZ 100,000 0 100,000
OEZsgeltH=s4dII3 100,000,000 100,000 0 100,000
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